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ITA REVIEW  TEST # 5
Find the LCM of:  6, 20
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Compare using <,>, =      
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Change this fraction into a decimal.


Change these decimals to fractions
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Add or Subtract these fractions:  
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Multiply or Divide these fractions:  
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Convert these units accordingly:

12 c = ___ qt


____ ft = 28 in

80 oz =  ____ lb

Solve these equations:
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Simplify each expression using the product or quotient rule, or both. 
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Solve:

Based on annual rainfall, about 
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in. of rain falls each day in Buenaventura, Columbia.  At this rate, in how many days does 8in. of rain fall? Round to the nearest day
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